1.1.4 Exercise 1 – redox reactions
1.
Deduce the oxidation numbers of the following atoms:

	a)
	Si in SiF4
	i)
	I in I2

	b)
	O in H2O2
	j)
	Tl in TlCl

	c)
	Pb in PbO2
	k)
	C in CaC2

	d)
	O in OF2
	l)
	H in AlH3

	e)
	S in S2O32-
	m)
	Fe in Fe3O4

	f)
	S in S4O62-
	n)
	I in IO3-

	g)
	C in HCN
	o)
	Cl in Cl2O7

	h)
	C in C2O42-


2. Name the following ions:

a) SO42-
b) NO3-
c) NO2-
d) SO32-
e) PO43-
f) PO33-
g) ClO-
h) ClO2-
i) ClO3-
j) ClO4-
3. Use oxidation numbers to explain why the following reactions are redox reactions:

a) Mg + 2HCl ( MgCl2 + H2
b) Cl2 + 2NaI ( 2NaCl + I2
c) Ca + 2H2O ( Ca(OH)2 + H2
d) 2Ca(NO3)2 ( 2CaO + 4NO2 + O2
e) Cl2 + H2O ( HCl + HClO

f) 3Cl2 + 6NaOH ( 5NaCl + NaClO3 + 3H2O
